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AN EXFALY L

M HZX SN

Sl BN ALY (Sl &2)
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O] Ak 4 il b o B2
ST AR T 12,503,507 18,422,813 ~5,919,306
=2 4,000,000
= 2,200,600
Al 6,302,907
T2 X 24 OH 10,457,215 2,657,211 7,800,004
= 4,000,000
= 2,200,600
Al 4,256,615
BRI L ALY 10,435,439 2,600,993 7,834,446
= 4,000,000
= 2,200,600
Al 4,234,839
BRI E - | BEHLAL 22,082 26,450 A4,418
201 YEr2gy| 1,000 3,250 A2,250
01 At 22|t 1,000 3,250 A2,250
OMELAIY ZEOHHE M 10,0008 * 100% 1,000
202 048 5,832 8,000 A2,168
01 2UHOTH| 5,832 8,000 A2,168
OBHZBXY - Z)| BSHLAY 27
81,0002 * 3% + 32 * 83| 5,832
203 YL E=TY| 8,000 8,000 0
03 AI&ZZ R =X Y| 8,000 8,000 0
OSHRXIS LA X7 8,000
301 BN 7,200 7,200 0
10 8 AFALH] B A S 7,200 7,200 0
OEHZXIS LAY X7 7,200
QIR X ALY & 43t 18,111 21,663 A3,552
201 LBt Y| 3,550 6,050 A2,500
01 AtR 22|t 3,550 6,050 A2,500
O §iy A2 202
1,500,0002! * 13l 1,500
OMLHE &F S F& 1,000,008 * 13l 1,000
OMLHE HH MoIRAE 3loaM 2
70,0002 * 158 * 13l 1,050
202 018 6,561 7,613 A1,052
01 2UHOIH| 6,561 7,613 A1,082
OLRSIMLAY =&
81,0002 * 3% * 32 « 93 6,561
203 YR =Y 8,000 8,000 0
TS EEESN 8,000 8,000 0
OXHML A EA3 27 8,000
ZA09 CEO42 AT 2,392,000 2,552,880 160,880




AN EXFAIY L

BB H XN

el BTG DN ALY (B9 &)
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
< 1,000,000
Al 1,392,000
401 Al E 6L 20| 1,000,000 402,880 597,120
= 1,000,000
01 Al &bl 1,000,000 400,000 600,000
OZAJI CE0 o142 HUT2 A 1,000,000
= 1,000,000
403 XX EHFI S K2 0| & 1,392,000 2,150,000 A758,000
02 21 2SOl CHEHCH B AL B 1,392,000 2,150,000 758,000
OZAJI CE0 42 2T HY 1,392,000
MATHAT X DS AACHR] X4 8,003,296 0 8,003,296
= 4,000,000
= 1,200,600
Al 2,802,696
201 Lur2 | 2,000 0 2,000
01 ALR 2l 2,000 0 2,000
OAZZDSMALNEL 24E U2 7Y 2,000
202 01t 1,296 0 1,29
01 =L O bl 1,296 0 1,296
OAZXYSAQAC F& 22 X
81,0002 * 2% * 22 43| 1,296
401 Al EHIL 20| 8,000,000 0 8,000,000
=2 4,000,000
= 1,200,600
Al 2,799,400
01 Al &bl 7,978,458 0 7,978,458
OATZYSHAACT T4 2 6,422,458
= 3,211,229
= 963,369
Al 2,247 860
OAZZYSHIACIK EHEY 1,334,000
=2 667,000
= 200,000
Al 467,000
OATZYSHAACHT =2 L FAMH) 222,000
= 111,000
= 34,000
Al 77,000
03 Al& 24| 21,542 0 21,542
OATZYSHAACHT FH 21,542
= 10,771
= 3,231
Al 7,540
LR HE2EH ALY 21,776 56,218 N34,442
E-CityAte) E2iXIgl 7,888 36,218 28,330




AN EXFAIY L

M HZX SN

ol 2RI 2T ALY (erel: @2
BSA - MG (B H) - MEBAIY - BAH2 Al OH &EIE Hm=2
SN HH . GA(BH) - NEAY - B2 Sh Ofl & o e
201 L2 IH| 2,000 15,000 A 13,000
01 At 22l bl 2,000 15,000 A 13,000
O%AM, &=z A s 24d=s 2 2,000
202 o4 4| 3,888 11,218 27,330
01 =LHO B 3,888 11,218 A7,330
OE-CityAtd & 22AHE HR2FA
81,000& » 4% = 1 * 123 3,888
301 2 AF 2,000 10,000 28,000
10 HALAHIE &= 2,000 10,000 A8,000
OE-CityAtd & Z2HE A2 F=A 2,000
leSF Ml HleA =[N3 A3t M3t AL 13,888 20,000 26,112
201 82| 10,000 10,000 0
03 A2 HI 10,000 10,000 0
Oe-ALx AL 22H 10,000
202 44| 3,888 10,000 A6, 112
01 =2LHO HI 3,888 10,000 26,112
Oe-AT= AL Z7
81,0002 * 4FH * 22 * 63| 3,888
NS A 54 2,021,284 15,738,782 A13,717,498
EtZ XS IHEAIS 2,021,284 15,738,782 A13,717,498
OOt EHIOIIE &4 2,000,000 15,700,000 A 13,700,000
401 AIEHIZ 2] 2,000,000 15,700,000 A 13,700,000
01 Al &l 1,495,000 14,675,000 213,180,000
O=0ItMMEHOIIIE =& A 1,495,000
02 Zelyl 500,000 1,000,000 500,000
OZ0IHMMEHIOIIIE REAFE 22| 500,000
03 Al 20HHI 5,000 25,000 A 20,000
O=0ItMMEHIOITIIE ZEAY AAL20iH 5,000
MM EHOIIIAZTY ARXIE 29 2,000 9,840 AT,840
201 B2 H| 2,000 5,000 A 3,000
01 At 2teltl 2,000 5,000 A 3,000
OEMEHDIIALTHE AZXIAH 2H 2,000
X Sotiia 2 CHAatey =X 19,284 28,942 A9,658
202 44| 13,284 28,942 A 15,658
01 =2LHO HI 13,284 28,942 A 15,658
O Mz S 2 & &2 9
81,000& = 3% * 22 * 183 8,748
OUMAMERI2HA S L FAI|2 U=
81,000& * 2% * 22 x 83| 2,592




SN EXAIE I
M NSl ey 54
Sl BFRXI SN AN ? @
|:|}\_| X XH C|-O|(=|j;”) }\.”clM,O-I A2 A} OH I|_-ILI;=|_I‘Z_ =2}
SN H . C(SH) - MBAY - B S S Off Ak o4 =
OCtMMEHOIII T E2XNE 292
81,0003 = 2 * 22 * 63| 1,944
203 2 FAlh| 6,000 0 6,000
03 Al F=RH R FAY| 6,000 0 6,000
Oglotiz L &Y RIIHE =& 6,000
HY2AZUI (EXAIS D) 25,008 26,820 A1,812
Jl=3Hl 25,008 26,820 A1,812
Jl=23Hl 25,008 26,820 AN 1,812
201 L Bt29H| 19,608 21,420 AN 1,812
01 At 22l bl 18,408 20,220 21,812
OFAN2Z Jl=&l 250,000& * 12& 3,000
OAMNREE FLU(EAMX &) 200,000& ~ 12& 2,400
OMAEARII A2E P2
300,000& = 601 * 23] 3,600
O=&tl 7,000& * 16Y = 7 = 12& 9,408
02 3329l 1,200 1,200 0
RERS 100,000& * 123 1,200
202 44| 1,200 2,400 A 1,200
01 2LHOA HI 1,200 2,400 A 1,200
OHl&Z22 2t Yl 1,200
203 2 =&ld| 4,200 3,000 1,200
04 ENM2IEHERFEY| 4,200 3,000 1,200
ORNMSIHRFAH 350,000& = 12& 4,200




